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INSTRUCTIONS

I All questions are of objective type having four answer options for each.

2. Category-I: Carry 1 mark each and only one option is correct. In case of incorrect answer or
any combination of more than one answer, % mark will be deducted. :

3. Category-II: Carry 2 marks each and one or more option(s) is/are correct. If all correct answers
are not marked and no.incerrect answer is marked, then score =2 xmumber of correct answers
marked + actual number of correct answers. If any wrong option is marked or if any
combination including a wrong option is marked, the answer will be considered wrong, but
there is no negative marking for the same and zero mark will be awarded.

4. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B, C, or D. Question booklet series code (A, B, C, or D) must be properly marked on the
OMR.

5. Use only Black/Blue ball point pen-to mark the answer by complete f‘llmg up of the
respective bubbles.

6. Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles,

7. Write your name (in block letter), name of the examination center and put your full signature
in appropriate boxes in the OMR.

8. The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for
question booklet number/roll number or if there is any discrepancy in the name/ signature of
the candidate, name of the examination center. The OMR may also become invalid due to
folding or putting stray marks on it or any damage to it. The consequence of such invalidation
due to incorrect marking or-careless handling by the candidate will be sole responsibility of
candidate,

9. Candidates are not allowed to carry any written or printed material, calculator, pen, log-table,
wristwatch, any communication device like mobile phones etc. inside the examination hall.
Any candidate found with such items will be reported against and his/her candidature will
be summarily cancelled.

10. Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

11. Hand over the OMR to the invigilator before leaving the Examination Hall.

12. This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
‘between the two versions, the information provided in the Engllsh version will stand and will
be treated as final.
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LIFE SCIENCE (&4 fawtw)

Category-1 (Q 1 to 30)

(Carry 1 mark each. Only one option is correct. Negative marks : — 1)

L. The part of the brain associated with maintainance of body balance is

(A) Medulla oblongata (B) Cerebellum
(C) Cerebrum (D) Thalamus
A T W (TR O T e e o 2
(A) TG SR NGT (B) tHARCE@
(©) wIREm | (D) 4TI
2, is a gaseous plant hormone.
(A) Auxin (B) Gibberellin
(C) Ethylene ; - (D) Abscisic Acid
T G0 A SfeW 21 |
(A) SfdM B) farwrzfem
() 2ffem (D) sHRfARRE e
3. Archaeopteryx is the missing link between which groups ?
(A) Aves and Mammalia (B) Reptilia and Aves
(C) Reptilia and Mammalia (D) Amphibia and Aves
IS B (I TSR Wy 2RI (oo 7
(A) o @3 BT (B) FTRe G o
(C) VR @@ AT (D) T®b% @R oFF
4. Presence of ozone layer in the atmosphere is very important, because it
(A) provides rain to earth (B) protects earth from. UV radiation -
(C) protects earth from flood (D) protects earth from volcanic eruption

AT TANF -7 fEfo ¥q8 wFge)d, TRe BEl
A) A R o

(B) e Sfer@e® AR T (U T I

(C) RS T (AT T IE

(D) AfRFF ST AS A T R

S, Optic nerve is a , -
(A) Motor nerve (B) Spinal nerve

(C) Mixed nerve (D) Sensory nerve
wF A 77 ol

(A) TIGRAY  (B) ™Ay () feran (D) T Ay

6.  Which hormone is not secreted from the anterior pituitary gland ?

(W TG PEEGIRR Slad® 1o Meys za T o

(A) ACTH (B) ADH

(C) FSH (D) TSH
T T T
ANM(R) & GNM-2022 (Shift-2) 3 e
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7. The greenhouse gas responsible for acidification of soil is
(A) Methane (B) Chlorofluoro carbons
(C) Nitrous oxide (D) Hydrochlorofluoro carbons
T SeTer way Wit JwRres el 7w -
(A) firem | (B) THIAGTA I
(C) 7RG ST (D) TRGSATTA 4R
8.  Gene Bank is an example of
(A)  Ex-situ conservation (B) Biodiversity hotspot
(C) In-situ conservation (D) Micropropagation
f&a e I3 BwreRe, ot 7+
(A) &% B Feawa (B) wIetalber g6
(C) WG Fewwe (D) T
9.  Who is the author of the book entitled “Origin of Species” ?
(A) Gregor Johan Mendel (B) Charles Darwin
(C) J.B. Lamarck - (D) Stanley Miller
“Origin of Species” I2BA T F 2
(A) T TURH TS (B) BT TREEN
() T e (D) =Bl Rt
10. Which one of the following is a nitrogen fixing bacteria ?
Frafefesfm W @l MEEE Rl i e
(A) Azotobacter _ (B) Pseudomonas
(C) Escherichia (D) Mycoplasma
11, What type of microorganism is Penicillium chrysogenum 7
(A) Harmful bacteria (B) Harmful fungus
(C) Beneficial fungus (D) Beneficial protozoa
Penicillium chrysogenum TN RS Y 7 .
(A) sfwa arania (B) weTA gAF
(C) Eora A (D) oIS TamBE
12. The chemical used in cryopreservation is :
(A) Liquid oxygen (B) Liquid nitrogen
(C) Liquid carbon dioxide (D) Liquid methane
AT RS oz Ao &= |
(A) SR SIETE (B) TR WAEIHA
(C) T T TIREHES (D) oF= fem
ANM(R) & GNM-2022 (Shift-2) 4 i
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13.  Polio is transmitted from person to person through

(A) Air . (B) Contaminated water
(C) Sexual contact - (D) Insect vector
e arF AfETe e e s ke e e
(A) o (B) wi¥e wa
(C) T fem (D) *fo% qTT
14. Pollination by bat is called
(A) Hydrophily (B) Anemophily
(C) Ornithophily (D) Chiropterophily
AT G T AARN 4G OF Y
(A) el (B) S
(C) wRFrafFEE (D) RS
15. Anther, the male reproductive structure of plant, contains
(A) Sepals - (B) Petals
(C) Carpels - (D) Pollens
Sfema 7T g o, vﬁnwﬁm T ACF
(A) 3® (B) &
(C) @ . (D) eEq
16. Which of the following processes is used in rapid raising of new’ ’plaﬁtf's';" from small plant
tissues ? .
(A) Hybridization ~ (B) OCraftng o
(C) Cutting (D) Micropropagation
RS (@ ~afore [=Iv e Fel (2 @Wm%ﬁ;ﬁvﬁwvm?
(A) TRFIFID ' ' (B) TECFAH
(C) e (D) ETETATE
17. The alkaloid obtained from Vinca rosea is N
(A) Reserpine (B) Vincristine
(C) Atropine (D) Morphine
Vinca rosea T(F T8 S0 “New I s el
(A) TETREE 3 (B) fEAfEHs
(C) g (D) TR
18. In HIV the enzyme respons1b1e for production of DNA from RNA is
(A) Transcriptase o (B) Helicase
(C) DNA polymerase (D) Reverse transcriptase
HIV TS (8 B30 RNA TU0&F DNA BeAM (I o1 2
(A) Grotemoee (B) EhEw -
(0) DNA ‘?I%W (D) fenf Groferabe
e e i
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What is the number of chromosomes in the human germ cells ?

O AR THICER TERICACE T AN F© 7

(A) 60 B) 23 . (C) 46 (D) 40
Blindness to red is known as

(A) Deuteranopia (B) Protanopia

(C) Tritanopia ' (D) Amblyopia

w1 el 7 e sifffes

(A) FeeEarfem C(B) AR

(C) GrRbrAfera : (D) SNt

The highly basic protein that remain associated with DNA is

(A) Histone , : (B) Globulin

(C) Albumin (D) Fibrinogen

DNA-R 7 Y& W58 %17% (A6l ze

(A) fEeEm | ®) aRefm

(C) weRfIm | (D) WA

‘What is the'cc.)rréc"t term used to describe the complete set of genetic information of an
organism ?

(A) Gene - - (B) Nucleus

(C) Genome (D) Proteome

@ 0 @3l TR A e SAMAE wdweia I9d@ F- o T 79 ?
(A) fa | ®) e

(C) feram (D) tafbed

The three small bones called malleus, incus and stapes are found in which of the following

23.
sense organ ?
(A) Eye (B) Ear
(C) Nose ‘ (D) Tongue
raferr, Ewant ¢ TSR A b T foal Mefeiis (oM wiatEe 1o e ay ¢
(A) oF B) oA -
(C) wifsrm (D) fergl
24, Asexual reproduction through budding takes place in
e orfere IR WA & €0 |
(A) Amoeba (B) Saccharomyces
(C) Penicillium (D) Bacillus
e e o e o S e A A £ P e o e e QEE [
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25.  Which of the following is involved in spindle fibre formation ?

(A) Lysosome (B) Mitochondria
(C) Golgi body (D) Microtubules
e e temel ey g T wiee ¢

(A) FRECS (B) WETGRE

(C) off 3y (D) TRFHEREAR
26. The cell organelle directly involved in protein synthesis is |

(A) Golgi bodies (B) Nucleus SRR

(C) Ribosome (D) Lysosome Dy

I FITEa A oerFend go (E-seidfl 2=

(A) e AT B) FefFm o

(C) FERE (D) FRCACET
27. Which one of the following diseases is not mosquito-borne ?

(A) Dengue (B) Chikungunya

(C) Plague (D) Malaria

RS reelr T @G weaRe Ty 2 I

(A) T®% ®) Fgrefm () T (D) worefm
28.  Which one of the following is an endangered species in India ? -

(A) Spotted deer (B) One-horned rhinoceros

(C) Peacock (D) Cheeta

Frafiestm T wRb orred Ry gufers a3 r

(A) Baye (B) «F Megwe o[

(C) W (D) foet
29, Which one of the following is not a reflex action ?

(A) Coughing (B) Sweating

(C) Blinking of eyes (D) Sneezing

e oA fows e T3

(A) I (B) W

(C) wiew FERe D) %
30. The “V’- shaped chromosomes seen in the mitotic metaphase are

(A) Acrocentric (B) Acentric

(C) Metacentric (D) Submetacentric o

@ EEHE TS RS <V SIGTed TR Tl W Ol &

(A) SOETAGS ' - (B) SOCAGT

(C) TROMATGP (D) ARCHIAES
SO e e R
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31. Inaerobic respiration, glucose is oxidized to produce
RIS A I SRS R A GRAF ICH
(A) CO, By CO (¢ H,0O (D) C,H,OH
32. Normal synovial fluid is composed of
" (A) Hyaluronic acid (B) Lubricin
(C) Acetylcholine : (D) FKibrinogen
O AR o e A BT
(A) TIEEAS SiE (B) FRF=
(C) wHBRAEER : (D) FREEES
33. Karyotyping describes
(A) Chromosome morphology
(B) Chromosome number
(C) Abnormalities in chromosome
(D) Nucleotide sequence in chromosome
FHRetEfHR T I FF |
(A) TERITITEITE S (B)  TERICHITETIN FR4T
(C) TR Srrefae! (D) TeFaTwiCy fREfpebiRe @
34, Acrosome of human sperm contains
(A) Alkaline phosphatase (B) Renin
(C) Hyaluronidase (D) Acrosin
R SRR SR« A |
(A) EIEITIAET TG (B) GRAR
(C) TR (D) oI
35. Which of the following events occur during lysogenic cycle ?
(A) Lysis of host bacterial cell
(B) Virus forms a prophage
(C) New viral particles are synthesized
(D) New characters are expressed in host bacterium
FRIE AT ST e [ Tmefe 9o ?
(A) TP iR (iaR fKmew wio
(B) ©IZaT «3fb T I IR
(C) SI#TT ©IRART U 8 T .
(D) T GBS o (ARETE g -
ANM(R) & GNM‘~2_0225(Shlft~2) 8 Ei‘f’%
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LIFE SCIENCE
Category-I1 (Q 31 to 40)

(Carry 2 mark each. One or more options are correct. No negative marks)
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Domain archaea includes
(A) Proteobacteria
(C) Methanogens

O SRIGHCS TR TRgS
(A) TerfbeERa
(C) foemAmeE=

(B) Cyanobacteria
(D) Halophiles

Which of the following are non-ionizing radiation ?

(A) Alpha particles
(C) UV radiation

(B) Gamma particles
(D) Microwaves

frfReetm W (e 77 SamEfeR e ¢

(A) STETE el
C) wferEet 3t

(B) st et
(D) WETESTIOT

Which methods are adopted for ex-siru conservation 7

(A) Cryopreservation
(C) Botanical garden

(B) Germplasm bank
(D) National park

T ~afoefe GF-Ff TRTHR T R0 7 2

(A) TCATRTH
(C) BT AEH

(B) @ IRT
(D) o TATH

In which combinations of microorganisms, all are directly involved in Ny-cycle 7

(A) Azotobacter, Nitrosomonas and Nitrobacter

(B) Escherichia, Nitrosomonas and Thiobacillus

(C) Clostridium, Nitrobacter and Rhizobium

(D) Klebsiella, Rhizobium and Salmonella

SRR [ SRR 6l 71 33 TG bIar A T 36 1
(A) Azotobacter, Nitrosomonas G492 Nitrobacter

(B) Escherichia, Nitrosomonas 9 Thiobacillus

(C) Clostridium, Nitrobacter S% Rhizobium

(D) Klebsiella, Rhizobium 9 Salmonella

DNA is made up of

(A) Pentose sugar

(C) Glucose

DNA TRefes am +fd® 2 A
(A) TACDTE e

©) L=

4 ST T P b

o P FP O 3, o T T A B0k AR

(B)
D)

Phosphate
Nitrogenous. base

TIACED
TGS

—r s, B e dtrare

ey
9 5

B)
(D)
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ANM(R) & GNM-2022

PHYSICAL SCIENCE
‘ ‘Category-1(Q 41 to 35)
(Carry 1 mark each, Only one option is correct. Negative marks: — Ya)

41, The three elements |;Ar*?, | K4 8, Ca%¥ can be called.
(A) isotopes (B) isobars
(C) isotones (D) isochems
A, (K4 and , Cat0-a fonfs G <@ 71
(A) STETAMG! ' (B) IZCANE
(C) SIRCAGH ‘ (D) SIECATA
42. If molecular weights of oxygen, hydrogen and sulphur are respectively 32, 2 and 32, then
what is the molecular weight of sulphuric acid ?
SRATET, TGS 8 AFTRIET SIHRE ¢y I TG 32, 2 8 32 T O A
NPTEs SEE 6Fg IO 7
(A) 49 (B) 98 (c 82 (D) 66
43. In the following table, select the correct matching between the substances named in first
column and the classification names given in the second column.
Substances Classification
1. | Brine a. | Mixture
2. | Smoke b. | Emulsion
3. | Butter ¢. | Solution
4, | Soil d. | Colloid
(A) 1-c, 2-d, 3-b, 4-a (B) 1-a,2-b, 3-c, 4-d
(C) 1-d, 2-c, 3-a, 4-b (D) 1-b, 2-d, 3-c, 4-a
A TN 2w G T gl A0 Ko B e Tt Arefer oW sArweT ey
T ‘
R e
1. | e a, | fae
2. |t b, | g
3. | S c. B39
4. | = d. | Fa0@
(A) l-c,2-d,3-b,4-a (B) 1-a,2-b,3-c,4-d
(C) 1-d,2-c,3-a, 4-b (D) 1-b, 2-d, 3-c, 4-a
44, Water bubbles are always spherical in shape; it never takes any other shape. Which physical
property of water is responsible for this ? | :
(A) Surface tension (B) Viscosity
(C) Elasticity (D) Specific gravity
AT 7 AR ARG T, S (I SIRICAR T | | ST (IR (TS 4 3 &7 W 7
() B0 (B) TEl
(€ Ryl (D) W=fe e
o S
ANM(R) & GNM-2022 (Shift-2) 10 g A
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45. A water pump can fill a 500-litre water tank kept‘at 6 m height in 50 minutes. What is the
power of the pump ? (g = 10 m/s?)

5 T Aot 50 RN 6 b Essor et w500 b e Biice wet v of% e
AR | 267 36 5 7 (g = 10 m/s?)
(A) 10 Watt (B) 30 Watt (C) 5 Watt (D) 15 Watt

46. I 800 calorie of heat is applied to 10 g of ice at 0 °C,
(A) about half the ice will melt
(B) entire ice will become water and then vaporize
(C) 10 gof water at 10 °C will remain
(D) 10 g water at 0 °C will remain
0 °C SIN@T 10 g IXTFCF 800 TR 171 AT T
(A) 21 ST [T @ AW
(B) "TRITE g« T I I A
(C) 10 °C SIF9@R™ 10 g ©ret 7S AN
(D) 0°C SN @r 10 g &1 NS A

47, If a note contains four tones of freqﬁencies 256, 400, 512 and 630, which one is a harmonic ?

(A) The tone of frequency 256 (B) The tone of frequency 400
(C) The tone of frequency 512 (D) The tone of frequency 630
&l 71 T 256, 400, 512 8 630 TFFAER SR R e ATF w@ TN @Al 2
(A) 256 TR A0 - (B) 400 F=~IrEa =
(C) 512 F=AER b (D) 630 F=ER A
48. The eye lens of a human body is a
(A) biconcave lens (B) biconvex lens
(C) plane mirror - (D) prism
A AR 5F (1 B4 936 |
(A) TSRO & (B) reres (&
(C) FTTEA A ' (D) forew
49, Which of the following gases does not normally participate in any chemical reaction ?
(A) Hydrogen (B) 'Neon (C) Carbon dioxide D) Methane
fraferRie sPTsfER e TS ARTSs T R R s w0 ¢
(A) TREEES  (B) W (C) TETERegEe (D) fwed
50. The acid which is mostly present in acid rain is
(A) Nitric acid (B) Hydrochloric acid
(C) Sulphuric acid (D) Citric acid
ST T8 SIS (AL (A A o &
(a) e e (B) TREIFF =T
(C) AAfFeE e D) e e
S e
ANM(R) & GNM-2022 (Shlft—Z) 11 T A
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52.

53.

54.
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What is measured by a common balance ? . .
(A) Mass (B) Weight (C) Force (D) Pressure
TR SRS (Wifetan) P e =9 0
(A) ©9 (B) &« <) = (D) v

If a person goes around a square shaped park of 10 m sides once in 16 seconds and stops, his
average speed and total displacement is

¢ TE @6 10 m g R 2R NET FRMTE 16 Teee Gwam O7 @ oF 1w g
8 TG 19 77

(A) 1.6m/s,10m - (B) 2.5m/s,40m

(C) 32m/s, 10m (D) 2.5m/s,0m

Choose the right answer :

Under special circumstances, a body’s

(A) mass and weight both can be zero ,
(B) mass can be zero, but weight cannot be zero '
(C) mass cannot be zero, but weight can be zero

(D) neither mass nor weight can be zero

woT Twal Fdma 93|

farem #ffgfore = 297 -

(A) ©F 8 GEH W2-T ¥q] TS I

(B) ©F [ q(T A FF $& ¥y 2O AT 7
(C). & ¥ TS AT 1 [FF G 717 @ A
(D) ©F 9 ST (ICHIG-2 X[F] 2T 70

A 20 g bullet is fired from a gun. The bullet hits a sandbag with 100 m/s speed and stops
after 10 cm into the sand. How much stopping force was applied by the sand ?

G T A 20 ¢ OED GG D @ T | FEBH 100 m/s T 936 Al e
TS HH I WET 10 cmmfﬁmmﬁmmicaﬁfﬁa@ﬂaﬁaaﬁmﬂwwﬁﬂ?

(A) 1000N ‘ (B) 100N
(C) 200N (D) 500 dyne
55, Newton is a unit of
(A) mass | (B) force
(C) gravitation (D) electric current
‘FEET R 9w 2
(A) 9 , (B) = _
(C) sy (D) SfER ga%
YA e 8 s s i i 8P B BRI B L UL R B A ) b e Yl et . s o aivnn anrin Ay st 4. ab e vt bt e s e ey g -@.“;ﬁ”ﬁ“- e e
ANM(R) & GNM-2022 (Shift-2) 12 . ‘ g"ﬁgﬁ A
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PHYSICAL SCIENCE
' Category-ll (Q 56 to 60)
(Carry 2 mark each. One or more optmns are correct. No negative marks)

56. Which of the following statements are true about the value of ‘g’ ?

57.

58.

(A) Itis same everywhere on the surface of the Earth.
(B) Itis same everywhere on any latitude.

(C) TItis same everywhere on the equator.

(D) It is zero at north and south poles.

g~ W I NBA (I (Sl Sfemefa sl ¢
(A) R =jrd7 EGT @ WK A |

(B) TN GG SEsle (39 4 7 W7 W |
(C) Frmrraem i@ @ T T |

(D) T ¢ AFF TIFCS @ T #e7 |

A large cotton bale and a small iron piece, both weighs 1 kg, Then ﬁnd the correct statements.
(A) Mass of the cotton bale is actually Shghﬂy larger.

(B) Since their weights are same, their masses are also same.

(C) Mass of the iron piece is slightly larger.

(D) Gravitational force acting on the iron piece is larger.

GG Rt ST <1 @ Gl TRIG TR G, WEE @ 1 kg | U@ R (S
Sfgrafer 7= 9

(A) SFIE SUAR B TF AT TCAS (3 |

(B) TWRY O STH A, ©IE OHE ©AS I |

(C) AR G S ATy T |

(D) T GoAba Tow Ay sfode arer W gl |

Two boys start running along a circular track of radius 70 m from same point at speeds 13
m/s and 9 m/s. After what time will they meet each other ?

(A) They will never meet eaqh other.

(B) After 20 sec if they run in opposite directions.

(C) After 65 sec.

(D) After 110 sec if they start running in same direction.

7 I 70m o @l o ore GFL T TAF YA 13 m/s 8 9 m/s ST
THIGTS &% e | oWl *I( SIRIR S qaoi TS 273 ¢

(A) RIS FUNE QA flfere A ! | =

(B) M ORI TP ST STEDIMIS (ML &3 F(F SR 20 sec A |

(C) 65 sec *TF SR O G ffers 2J |

(D) M O 4 PCE TISCS $F (R SIZA 110 sec A |

MRS I LB 1 b o b St e s e wianrans Garsgers (e e, -E]E‘i LiJ

ANM(R) & GNM-2022 (Shift-2) 13 | e A
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59. When a force is applied on a moving object,
(A) There is no change in its direction, velocity or acceleration.
(B) It may continue té move in the same direction but with a changed speed.
(C) It may continue to move with same speed but in a different direction.
(D) It may start moving in opposite direction.
TR ofSe g2 TR 41 Sfrael T, |
(A) g e, TR R AL R 7
B b @ SR g AReES RS FS ¢RTS T |
©) < a7 e Ry AR Sfoqe 5rs AT A |
(D) =B SEBIMIT vIS ST TA(© A |

60. 17 of work is done when

(A) " A force on a static mass of 1 kg gives it an acceleration of 1 m/s? in its direction and

moves it through a distance of 1 m.
(B) A force of 1 kg moves a static object by 1 m.

(C) A force on a static mass of 100 g gives it an acceleration of 1 m/s? in its direction and

moves it through a distance of 10 m.

(D) A force of 1 N-moves a static object through a dis_tapce of 1 m in its direction.

| S ) AR T I,

(A) @3 @] kgmm%%aa@a@amm | m/s? G4 i IR @ TR
1 m AR

(B) & T 1 kg ST G0, ZH < 1 m 3 e R |

(€) @ @ 100 g SE % 5 <R @ AR WO 1 m/s? e i R aR goT
0mTAT

(D) 1N R aﬁmaﬁﬁa@mﬁlmqﬁml

- T '?E%% .
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ENGLISH
. Category-1 (Q 61 to 75) :
(Carry 1 mark each. Only one option is correct. Negative marks : - %)

61.  Choose the word, which can most appropriate}y replace the italicized words in the given

sentence : :
Primitive tales mainly comprised stories of old-time gods and heroes.
(A) ode : (B) legend
(€) epic (D) allegory o
62. Choose the most effective word to fill in the blank to make the sentence meaningfully
complete : - ‘ o
Those who have well . their transition from village life to city life have prospered.
(A) managed - (B) taken - T
(C) tried (D) finalised

63.  Observe the two italicized Words in the following two sentences and give your observation
by choosing any one option below : I - '
L Avote of censur was passed against the Chairman.
II.  Every film needs a clearance from the Censo Board.
(A} Only sentence-I is correct.
(B)  Only sentence-II is correct.
(C) Both sentences I and II are correct, _
(D)  Neither sentence I nor sentence 11 is correct.

64,  Choose the most effective word to fill in the blank to make the sentence meaningfully
complete : ‘ . ‘
Ashok had to drop his plan of going to the picnic as he had certain to keep during
that period. '
(A) urgencies (B) preparations
(C) commitments (D) arrangements

65. Fill in the blank ‘with the fiost appropriate word/ group. of words to make the sentence
meaningfully complete :

I shall not join you need me,
(A) ifnot (B) if
(C) whether _ (D) unless

66. Fill in the blank with the most appropriate word/ group of words to make the sentence
meaningfully complete :

His statement is replete : A | contradictions.
(A) in : e B) of
(C) by (D) with

67. Find out which part of the sentence has an error :

The blinds /deserve our sympathy  and cooperation
(A) (B) ©) D) '
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68. Select the wrongly spelt word. |

(A) Kiln ‘ | (B)_ ‘Masculine

(C) Muslin ' (D) Disciplin
69. Select the Wrongly spelt word. |

(A) Dairy (B) Dafodil

(C) Dainty (D) Damage

70. A sentence is given in direct (or indirect) speech. Out of the four alternatives given select
- the one which best expresses the same sentence in indirect (or direct) speech :

‘He said, “Where shall I be this time next year!” -

(A) He asked that where should he be that time next year.

(B) He wondered where he would be that time the following year.
(C) He wondered where he should be that time the next year.

(D) He contempléted where shall he be that time the following year.

71.  Choose the alternative which best expresses the meaning of the idiom / phrase / proverb
given in italics in the following sentence :
L take exception to your remark,
(A) accept gladly (B) object to
(C)* will consider carefully " (D) am thankful for
72.- Choose the alternative which best expresses the meaning of the idiom / phfase / proverb

given in italics in the following sentence :
1 feel very put out about yesterday’s incident.

(A) pleased (B) foarful _

(C) disturbed (D) overjoyed
73.  Choose the word, which has nearly the same meaning as OBLIGATORY.

(A) Agreeable (B) Required -

(C) Stubborn ' (D) Useful
74. Choose the word, which is opposite in meaning to FICKLE.

(A) Tasty (B) Quick

(C) Constant (D) Healthy
75.  Choose the word that can replace both the words in italics in the two given sentences .

L The document was declared void.

I I felt pity for the sickly person.

(A) Useless (B) Defectivgd

(C) Invalid (D) Weak
e T Tl -
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MATHEMATICS
Category-I (Q 76 to 85)
(Carry 1 mark each. Only one option i Is correct, Negative marks : — %)

76. A reservoir can be filled with water by two taps The first tap only needs 10 minutes to fill

the tap and the second tap only needs 15 minutes. At first the reservoir is half filled by the

second tap only and then the first tap is also opened. How much time in total was needed to -
fill the reservoir ?

wf%mwmqfﬁmﬁmwwmwmwwﬁwwwmﬁmmﬁﬁﬁ
St 3wy oS WA R e 15 {6 e | A @qﬁf@h{ﬁaﬁwm
Wﬁaw%‘%wmm\wmﬁwwm %WWW!W@%WWB
TG Y FAA 9

(A) 6 min. o B 3min
(C) 10% min. o (D) T%min

77. The dlameter of a circular park.is 35 m. How much time it will take to. run once around the g
park at a speed of 110 cm/sec ? _
4= O TSR 1 35 FBR T 110 em/sec 01 @ ‘ﬂmmﬁw ﬂ’?ﬁ?ﬁ?ﬁmw |
FO Y T ?

(A) 100 sec. o (B) 200 sec.
(C) 2 sec. : S - (D) 50 sec,

78.  Number of students in two schools are same. But the ratio of the riuzjhberbf male students to
the number of female students are 9:10 in one school and 10:9 in the other school. What is
the ratio of the number of male students to-the number of female students of the two schools
taken together ?

ANt o F0EE g m@am@mﬂm%@me RIA L WA &WQ 10 @
SIS 10:9 207 AfE 31 T 20 @ 2@ eSS TS 7

(A) 9:10 (B) 10:9

(C) 10:11 - (D) 11

79. A co-operative bank offers compound interest at 5% in 1% year and at 4% in 2™ year. If a

certain amount of money becomes ¥ 2184 in 2 years, what is principal amount ?
(A) %1900 By %1950  (C) T2000 (D) %2500
GG I E AT TR 5% @ TS IR 4% 5T 2R 9] | ﬁﬁgt‘mﬂ%z ®|A
TA-SIATA 2184 BIR T, OIR(HA AR ARNH F7© ¢
(A) 1900 t‘m (B) 1950.5/@  (C) 20005 (D) 2500 Bl
e e 1 5 e PSR 5 o e et e et e et e e e mﬁﬁy e
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80.

81.

82.

83.

84.

85.
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For what principal amount the difference between simple interest at 4% and compound
interest at 4% will be ¥ 110 in 2 years ?

(A) T 60000 (B) % 68000 (C) % 68250 (D} % 68750

T BRI 2 TR 4% TR 9 I 6 4% R 5&gfa e wed 110 B =3 9

(A) 60000 5/F  (B) 68000 B/ (C) 68250 Bl (D) 68750 Biwl

The surface area of the base of a cylindrical vessel is 154 m? and its lateral surface area is
308 m?. Then height of cylindrical vessels is

(A) 7m ®) l4m = (C) 2lm (D) 27m

T3 SR e TiE TRawa 154 R0R @& P OTER TFATe 308 IR T,
et Tovel T ¢

a) 7 foE (B) 14 f¥o= () 21fom= (D) 27fGE

If ]0g£[§+%+2j=log\/§4,then

qﬁ 10g£(§+%+2J=10g£4w, SR

(A x=y B) x=#y
(C) x>y D) x<y
If logx _logy _ logz ,then log (xP - y%-2z") =

q-r r—-p p—q -

o Jog% 108y _108Z o warat og (- yo- ) =
q-r Tr—-p Pp—q,

(A) log +2 ®) 0

(C) log2 (D) log3

The difference between two positive whole numbers is 3 and the sum of their squares s 117,
find the two numbers. :

7f (IR WG TR TEH 3 R ST qeta o 117; AN o TS ¢

(A) 9,6 (B) 12,15

(C) 81,84 . (D) 19,22

At what rate of simple interest, ¥ 5000 yields an interest of T 4800 in eight years ?

e 73 T T < T 5000 BT S < I 4800 TFA (I 7

(A)‘ 6% (B) 12% (C) 18% D) 9%
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86. Which is the most populated city in the world ?
(A) New York (B) Beijing
(C) Mumbai - (D) Tokyo
7 TG Twege =27 @G
(A) ReETF (B) tafer
(€) w2 (D) TR
87.  Who is the first Indian to receive Nobel prize ?
(A) Jawaharlal Nehru (B) CV Raman
(C) Dr. Amartya Sen (D) Rabindranath Tagore
ST (I SO AN ATH A 7
(A) SRl (NRP B eI
(C) ® G W (D) TAHL S
88. Lakshadweep is located in
(A) Atlantic Ocean (B) Pacific Ocean
(C) Bayof Béngal (D) Arabian Sea
Al SRS |
(A) SIGFI5Z A=A (B)  &¥Ii® SIEleita
(C) TR (D) I A
89. Who is the pioneer of the theory of relativity ?
(A) Thomas Alva Edison (B) Albert Einstein
(C) Marconi (D) James Watt
. sl o RrElbfed (srefeesel vg) eaea s
(A) B et «fSe : (B) TIFRIG WEFEIR
(C) WFM (D) T &AG
90. Who among the following has become the fourth Indian to win a Grand Slam ?
. (A) Sania Mirza (B) Rohan Bopanna
(C) Mahesh Bhupati (D) Leander Paes
fa e vy wRre A el ¢
(A) e e (B) T3S 3=l
(C) w2 gefe (D) TASE T
e o
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GENERAL KNOWLEDGE
Category-I (Q 86 to 95) _
(Carry 1 mark each. Only one option is correct, Negative marks : — Y4)
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91, Which organ of the human brédyﬁdoes' tﬁéfAIzheimer’s disease affect ?

(A) Baa . ... (B) Bran. .. . ..
(C) Eye (D) Stomach

SRR (A TR (2 [ S SIS 3 2

(A) W (B) wie=

(C) N (D) g

.92, Dr. Zakir Hussain was

(A) first Vice President of India
(B) first Speaker of Lok Sabha
(C) the first Muslim President of India

(D

) first President of Indian National Congress

oy wifEq @I '

() SRS e ST

(B) TARTOR g~

(C) ©RCR A4 Pe 7B (D) SIS SIS FT e e

93. The famous book 'Anandaﬁiath‘ was authored by

(A) Sarojini Naidu (B) Bankim Chandra Chottopadhyay
(C) Sri Aurobindo (D) Rabindranath Tagore

(A) TARGH ALY (B) <M&TEH LB

(C

) R (D) FREAL A

94, Bagram airbase, which was recently in news, is located in which country ?

(A) Pakistan (B) Afghanistan

(C) Iran (D) India

Eitaliv] wmwmw@mﬁmw@%wmmw@w
(A) “ifegm (B) SIAIREH

C) TN (D) ©R®

95, Which are the two houses of Indian Parliament ? |
~ (A) Bidhan Sabha and Lok Sabha (B) Rajya Sabha and Lok Sabha

(C) Rajya Sabh

SRS ARG A TOR A F ¢

(a) w7t ¢ T Fel (B) e S @ TR Al

©) e e g R A (D) TE el @ FA
" ANM(R) & GNM-2022 (Shift-2) 20

https://exams.freshersnow.com/category/entrance-exam-question-papers/

a and Bidhan Parisad (D) Lok Sabha and Supreme Court

T L TN




ANM(R) & GNM-2022

LOGICAL REASONING
Category-I (Q 96 to 100)
(Carry 1 mark each. Only one option is correct. Negative marks : - %)

96. Which of the following figures does not,bélong to the series ?

(A) B)

(C) (D)

97. Find the odd one out.
(A) Pen (B) Book
(C) Pencil (D) Note book

98. Find the right option below where the two given words have the same relat1onsh1p as,
‘CARPENTER - SAW" |
(A) Garden — Flower (B) Sky — Rainbow
(C) Soldier — Gun (D) River —Boat

99. Choose the right option to fill in the blank
PAW :DOG::HOOF: ?

(A) Teeth ' (B) Claw
(C) Elephant - (D) Horse
100. Select the right option that will replace the question mark and continue the pattern.
— == D = = = 0
"Choose the right option.
- b
(A) o (B) 0=
r— r——
- S
© T D) Rl
L—p ' P E—
........ - - e e
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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FIE A
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